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Listing 1: Program 0

#include<cmath>
#include<iostream>

using namespace std ;
int main(){

float a=1.000000000000000;
float b=0.999999999987654;
float c=a—b;

cout<<e<<”\n” ;

double ad=1.000000000000000;
double bd=0.999999999987654;
double cd=ad—bd;
cout<<ed<<”\n”;

return O0;

}s
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Listing 2: Program 1

#include<cmath>
#include<iostream>

using namespace std;
int main(){

double a=1.;

double b=—-1;

double c=—2.;

double bac=bxb—4xax*c;

double soll=(—b+sqrt(bac))/(2xa);
double sol2=(—b—sqrt(bac))/(2xa);

cout<<”solution._l.:."<<soll<<”\n”;
cout<<” solution._2.:."<<sol2<<”\n";

return 0;

}s
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Listing 3: Program 2

#include<cmath>
#include<iostream>

using namespace std ;
int main(){

double a=1.;
double b=—-1;
double c=2.;

double bac=bxb—4xax*c;

if (bac<0.){
cout<<” There_is._not_real_.solution.\n"”;
return 0;

3

double soll=(—b+sqrt(bac))/(2xa);
double sol2=(—b—sqrt(bac))/(2*a);

cout<<”solution.l.:.”’<<soll<<”\n”;
cout<<”solution_2._:."<<so0l2<<”\n”;
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Listing 4: Program 2_2

#include<cmath>
#include<iostream>

using namespace std ;
int main(){

double a=1.;
double b=2.;
double c=1.;

double bac=bxb—4xax*c;
if (bac<0.){
cout<<” There_is_not_real_solution.\n”;
}else if(bac==0.){
double sol=b/(2xa);
cout<<”solution.:.”<<sol<<”\n”;
}else{
double soll=(—b+sqrt(bac))/(2*a);
double sol2=(—b—sqrt (bac))/(2*a);

cout<<”solution._l.:."<<soll<<”\n”;
cout<<”solution.2.:."<<so0l2<<”\n”;
¥
return O0;
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Listing 5: Program 3

#include<cmath>
#include<iostream>

using namespace std;
int main(){
// For the first problem

double a=1.;
double b=—1.;
double c=—2;

double bac=bkxb—4xax*c;

cout<<” For_the_first _problem\n” ;
if (bac<0.){
cout<<” There_is._not_real_.solution.\n”;
}else if(bac==0.){
double sol=b/(2xa);
cout<<”solution._:._."<<sol<<”\n”;
telse{
double soll=(—b+sqrt(bac))/(2%a);
double sol2=(—b—sqrt (bac))/(2%a);

cout<<”solution.l.:."<<soll<<”\n”;
cout<<”solution_2.:_."<<so0l2<<”\n”;
cout<<”\n”;

// For the second problem
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a=1.;
b=—2.;
c=—3.;

bac=bxb—4%xaxc;

cout<<” For_the_second_problem\n” ;
if (bac<0.){
cout<<” There_is._not_real_.solution.\n”;
}else if(bac==0.){
double sol=b/(2xa);
cout<<”solution.:.”<<sol<<”\n”;
}else{
double soll=(—b+sqrt(bac))/(2x*a);
double sol2=(—b—sqrt (bac))/(2%a);

cout<<”solution.l.:."<<soll<<”\n”;
cout<<”solution_2.:_."<<so0l2<<”\n”;
cout<<”\n”;

return 0;

}s
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Listing 6: Program 4

#include<cmath>
#include<iostream>

using namespace std ;
void cal(double a,double b,double c)
double bac=bxb—4xax*c;

if (bac<0.){
cout<<” There_is.not_real.solution.\n”;
}else if(bac==0.){
double sol=b/(2xa);
cout<<”solution.:."<<sol<<’\n”;
}else{
double soll=(—b+sqrt(bac))/(2xa);
double sol2=(—b—sqrt (bac))/(2*a);

cout<<” solution.l.:._."<<soll<<”\n";
cout<<”solution._2.:."<<so0l2<<”\n";
}s
cout<<”\n”;

I
int main(){
// For the first problem
double a=1.;
double b=-1
double c=—2.;

cout<<” For_the_first .problem\n”;
cal(a,b,c);

// For the second problem

a=1.;
b=—2.;
c=—3.;

cout<<” For_the_second_problem\n” ;
cal(a,b,c);

return O0;
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Listing 7: Program 4_2

#include<cmath>
#include<iostream>

using namespace std ;
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int cal(double a,double b,double c)

double bac=bxb—4xax*c;
int num;

if (bac<0.){
cout<<” There_is _not_real_solution.\n"”;
num=0;

}else if(bac==0.){
double sol=b/(2xa);

cout<<”solution.:.”<<sol<<”\n”;
num=1;

}else{
double soll=(—b+sqrt(bac))/(2%a);
double sol2=(—b—sqrt (bac))/(2xa);
cout<<”solution_1.:_."<<soll<<”\n”;
cout<<”solution_2.:."<<so0l2<<”\n”;
num=2;

}s

return num;

I

int main(){
// For the first problem
double a=1.;

double b=—1.;
double c=-—2;

cout<<”For_the_first .problem\n”;

int num_probl=cal(a,b,c);

cout<<” ___number_of._answers.:."<<num_prob1<<”\n” ;
cout<<”\n” ;

// For the second problem

a=1.;
b=—2
c=—3;

cout<<” For_the_second._problem\n”;

int num_prob2=cal(a,b,c);

cout<<” ___number_of_answers.:_."’<<num_prob2<<”\n”;
cout<<”\n" ;

return 0;

}s
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Listing 8: Program 5

#include<cmath>
#include<iostream>

using namespace std;
int main (){

double a=1.;

double b=—1;
double c=—-2;
double x=-50.;

for (int i=1;i <=100;i++){

double fx—=axxxxt+bxxtc;

cout <<x<<” U< fx << \n” ;
x+=1.;

s

return O0;

}s
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Listing 9: Program 6

#include<cmath>
#include<iostream>

using namespace std ;
int main(){

double a=1.;
double b=—1.;
double c=—2;

double x=-50.;
for (int i=1;i <=100;i++){
double fx=axxxxtbxxtc;
if(fx::O.){
cout <<x<<”\n” ;
I
x+=1.;
s

return O0;

}s
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Listing 10: Program 7

#include<cmath>
#include<iostream>

using namespace std ;
int main(){

double a=1.;
double b=—1.;
double c=-—1.9;

double x=-50.;

for (int i=1;i<=100;i++){
double fx=axxxxtbxxtc;
if (abs(fx)<1.){
cout<<x<<”\n”;

}s
x+=1.;

s

return 0;

}s
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Listing 11: Program 7.2

#include<cmath>
#include<iostream>

using namespace std ;
int main (){
double a=1.;
double b=—1;
double c=—-1.9;
double x=-50.;

for (int i=1;i <=100;i++){
double fx=axxxxt+bxx+tc;

300000000000 . /progs.1m > output D000 Doutput 00 0000000000000 0O0OOOO0O




if (abs(fx)<1.&&x<0.){
cout <<x<<”\n” ;

X:‘—il.;
}s

return 0;

}s
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